COMPLETE THE TEXT WITH THE CORRECT WORD FROM THE BOX

Helen is (1), she felt extremely (2) to tell her mother the situation. Her
boyfriend David is (3) the pregnancy courses with Helen. Helen's mother does not know yet
about her new state. She tried to read some books about pregnancy in the (4) , but it was

impossible to find available books at that moment. So she had to buy a good one in a

(5).
Some (6) in TV tell parents about the dangers babies can have during the first months.
Helen is worried because she has not idea about (7) a little baby and she does not feel prepared

to tell her mother she is pregnant. As a result she perceives the situation a little difficult. She does not
have enough money, she has thought about sewing some dresses by herself, she has seen some
(8) with beautiful prints, and a friend mention that she could go to the (9) where

clothes for babies are made and there she could find cheap dresses.

She was walking along the street when she saw a - (10) in a restaurant for a waitress, she
considered to take the job but at the same time she did not believe they were going to hire a pregnant
girl, on the other hand, she listened in the TV (11) that women were exposed to some risks when

they have to work being pregnant,

Helen knows she cannot hide for a long time the baby, and her mother is goingto _ (12) any
moment. Her (13) are going to feel disappointed, especially her father who has worked
so hard to give Helen what she needs. Helen has something very clear, and having a baby is not going
to stop her dreams, she will have (14) in whatever she does. And this (15) cannot be

a tragedy, but a learning for the rest of her life.
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